C%@BRANB

MANUAL

B

T20E- BL

Cabinet Style Portable Thread Trimmer

HIGH SPEED TRIMMER SERIES




Contents

H x

Iy APPLICAtTON TMSTIUCTIOM - (D
1)Clipper blade Maint@nanCe i (2~3)
2)Vacuumsuction motor MAaINtEMATICE - (4)

2. General assembly AraWing - (5)

3. Suction assembly and SUCTION ACCESSOTY i (6)

4. Clipper blade accessory and asSembly - (7

5. Pedestal and Control box accessory assembly (8~9)

From the library of Superior Sewing Machine & Supply LLC - www.supsew.com



1. Application instruction

BY 2% ML 4% F U P

This serial product is one of necessary equipment specialized in garment industry, with its substitution for
traditional manual clipper process and integration in clipper and thread-sucking process, as well as no any
thread end remained, all these products are assumed to keep up all finished clothes and working
environment quite clear and tidy to improve operation efficiency and mitigate worker's labor strength

This serial product features into high efficiency, smaller body, lower noise, lower electrical consumption,
easier operation and without any maintenance etc; it may adjust air rate of clipper outlet, 95% clipper ratio
per time; as well as clipper angle and gap shall be casually adjusted according to operation habit, within 3
inches as optimal clipper adjustment, in particular suitability for garment with such many thread heads,
textile garment, one with its flexibility band, as well as jeans wear with comparatively bigger threads etc.

ZARB PR AT ORI IR AR M ¥ &, ARG T 8T T i R A0 i A
IR MN L TR &R — 1, AEERELL, KRG, WRMAK L TG, RS
TARRCE, W T T ARSI,

BRI B TR, BN, WBEEAR, R, BTSSR AL, W RO BT AL 1 RGHE, —
KRBT ZRN95%, MRYE A I AL B M B 2o A 2 Je b, B S B3~ AN sk, 3 liE & 2k i
Z AR LR R SR IRCRE | A R BRI R ke B R Y A A R R .

1)Application instruction
i FH 5 B
1.First, adjust the knob (pc 1) into lowest position, shack the spay oil and spay some oil toward the blade
teeth(pc2)
HEAEE R (D B s AR, S R R B On ) SRR CBI2) W — TR
2. Turn on the power switch (pc3), Herein, total machine stays at Ready-For Operation.

TR EHIF R CE3) Ja, i PN B3t 25

3.Adjust the wing speed according as the material. Herein, the machine has been into operation status.

B J MR A8 A1 ) 5 AN A R A T eI T ARG AL (S RIRD BN AR DL

4.Spray some oil to the blade teeth every one hour, adjust the suction knob to lowest position then spay the
oil toward the teeth of blade, finally, clean the unwanted oil and continue to work
156 FH A E — O, AR /NI 06 50—, i IR R R X B S AR, A T B A S
B SN S 15 W S5 - R A S P LT I S5

5.In case that remained thread is excessively longer or shorter after cutoff, damaged cloth or unsuited
cutoff etc, please refer to adjustment for blade and maintenance for suction motor.

AR E B A A R KEd A, BN TOR BB A B2, B2 HE TR R SIE R IR

6.Dustproof cover was mounted below vacuum motor, its cleanup shall maintain one time per day, replace
itif applicable; several-time use shall maintain after cleanup of dated one.

RPN A, BRIEE K, BDENEHRGA H, HEEEE T2 REH .

BY BY
—— NN

3
-
i3 :
Spray Oil
R

C%EGHANU

— 11—

From the library of Superior Sewing Machine & Supply LLC - www.supsew.com



#Description of operation

RS

1. Move the blade head along with the trail of thread ends from left to right, whilst the thread
ends are sucked into the teeth of blade and cut off.

T 3k NGRS AK PR 28 328 5 17 V- 47 7% 2l Bl AT 38 2 BT 28 H 1) .

2. In the light of laborer's habit, he/she can casually adjust the balancer to change the gap between
blade head and operator so as to mitigate worker's labor strength.

MRAE B A S, AR R D SR A AR N S e B, AR R 57

3. In the light of different cloth material, select different blade and suction speed so as not to damage
any cloth material

AR 385 A [7) £ T ARk 328 3 AN [R] 10 7] AR GG

LA B of T AR 36 8 A2 473
@ Refer to the following form

PRI TIERS %
Fabric Pure Silk &wool Knitted Fabric Tatting & Jeans
T A Fez okl B ik AR AR S R A= A1 1 R
Suction scale
U - o 0

@ Trimmer Clipper Maintenance

B TIHIAR IR

1. Whilst re-installation for clipper blade, firstly assure the active blade tip and fixed blade are put together
to the correct position exactly. Active blade tip is 0.64mm shorter than fixed one. Such adjustment only
needs to release screw with spring washer and in parallel impel active blade.

R Z BB TN, B B BB TR E TR IEM AL E . 3 T RM R E TR G
IBEONO0. 64mm, B Fa TF 95K v [ e R ez, CPATHESNIE B ) v RIA] (D .

2. Whilst adjustment for clipper blade wing guard, please retain approximate 1.28mm gap between wing
guard and clipper blade tip after completion of the blade installation; if the cloth is extremely thin,
0.64mm adjustment is also acceptable, such manner should avoid any damage of garment or over-lock
thread whilst cutoff.

FEA BT T) S B RO I, BT Z T wARZ Jn, BRI S BT R T AR i R R I 1) K4
1. 28mm, 0 SFAG kRS A, WA 30, 64mm, XAEA S BIREK R AL (K2 .

3. Blade tip and wing guard shall retain 0.5mm gap, that is to say, wing guard is 0.5mm higher than blade
tip; however, garment or over-lock thread is easily damaged if they both are equal to each other at height;

as for some comparatively thinner garment or requirement for over 2mm thread length after cut
operation, the gap between wing guard and blade tip must be adjusted into comparative larger setup,

herein, only release screw (see Diagram 3) and push down blade assembly until onto appropriate
position, replace some thicker wing guard is also acceptable if available.

JIRE NS 7 1% 72520, 5mm, B RCE £ 7 S EE )R & 0. Smm, TR KR T 5 TIR

VB G B IR AN BT A AR 2, (H I — S LU R R I, BRE R BT AR R Z2mmbd L

o, U RGBS 7 5 TRV 22 OK, R A AU T (IEI3D PromiRes, suHE A )k
(e s VA MU PN B 3 /g N D E = DA

— 2

From the library of Superior Sewing Machine & Supply LLC - www.supsew.com



4. In case clipper blade is blunt, please release the screw tightened on the blade, review if any peculiar
substance exists between blade and blade teeth, if some accumulative dirt completely exists which
results in unsuitable position whilst thread head feeds into blade, must immediately clean up it
completely; also review the stress of tension spring, first left hand holds on fixed blade, and then right
thumb and first finger impel active blade, it is ok if feeling 3-3.5kg push force, otherwise, please rectify

the spring pressure or replace new one.

BH LTI AR, SRR gL, BESIIR ARG LEY, WG, &
KAARBITIR NIRRT A EERA RS, HMEFERCT M, AFNBENERIED D)
Tl BEA3T3. BA TR I ONIET , WR AR, U R AR R O BOE R .

5. Once some special sound such as Dadada takes place on the blade head, please release the screw
tightened on the blade, review the matching gap between eccentric block and fixed blade, immediately
replace the eccentric block iftoo larger matching gap, whilst checking up if some axial gap exists, also
immediately reset it if too larger clearance.

R TIRAT R “REERE R, T ] e R, RmAESERSETIE B,
L= VN A 20 2 N TR I v 2B o B i S S TS P R 1§ S-S U PN O T

6. No use sewing machine oil or WD-40 instead of grand special thread trimmer oil since these kinds of oil
shall shorten the life of blade, however, grand lubricant is one of composite oil with quiet fine, higher
specification value, easier solubility to water and mobile viscosity, also beneficial for improvement for
blade life.

P20 FH AR 4 2t WD -4 040 B BT A AL o R 9o 28 3k 4 4 J0 v B9 A FH 4 i el A, 0 7 )1 e i
waE s, BAVERG, SV TK, ERIER GRS O, BEA R B & ) v AL
M 75 i o

{
1 1i1/16
132 [V *

=

N M I I

®Remarks
EEFEW

Clipper blades to be used continuously after six months may be blunt, please go to our dealers to sharpen
the blades or buy new one.

BT R BN AR, ATREAER], 1 B SE A AR R A R T AT Bl B
W ST ) P o

— 3 —

From the library of Superior Sewing Machine & Supply LLC - www.supsew.com



€@ Suction motor maintenance

H Ut s 4 A U

Suction motor has been to high pressure resistance before factory shipment, which is durable to 1200V and
with thermal protection device. Once temperature exceeds 120°C, the motor shall be automatic shutdown,
and restart it after temperature lowers to normal one, such operation become more safe and reliable.

Ifnot enough suction force exists in suction motor whilst use, first check up if air speed adjustment knob is
at appropriate position, then check up plastic barrel and barrel cover is at better cover position, finally
check up if the barrel is too filled with thread end and if dustproof cover accumulated too much thread end
or dust.

Must clean up plastic barrel once a day, and better cover up it once its better cleanup after operator affirm
that dustproof cover is at normal status.

FNRERTG R s ALAE ) 2 A2l i e s A B, REIE 1200V B, A A MARIREE, M E
HE90, CIF, 2 A sl e HL, frild B B AR Ja W] 508 T HLAL S 2 43 nl 5 .

A AE AL R R B AN G, G A G U Y e L A U R OE A A, R R R AR S A
wiot i b, PR A BE NS ALY, PO R AR AL, R ke A AT A
W2 SR, B AR B B OR 2 A Sk ik 4.

SRR 0 Z0RE RS BE Ik, 3 B s B 0050 A B 2R SR SE IR A, DBl A L RO
B, RS ML KW ER SN BER SR .

\ J
Accessory:
b 1+
Tools
180 i) T A
%}%x

— 4 —

From the library of Superior Sewing Machine & Supply LLC - www.supsew.com



2. General assembly drawing

AEIEHE

— 55—

From the library of Superior Sewing Machine & Supply LLC - www.supsew.com



3. Suction assembly and suction accessory

6 Rl W 2k 4H 1 P

N e e e e o — ——— ———————————

Fs A 5 % HEl &K F
Ref.No Part No Description Qty Remark$
1 GHT33-123-01 ik B Motor cover 1
2 | 183-03-1 Jig Rubber washer 1
3 | GHT33-123-02 I 44 Hook 3
4 M6X10 [#] 2 W2 22 Screw 3
5 GHT33-123-15 AT Tightening pipe 4
6 M6 [ Nuts 4
7 93C-13A i AL 20 55 4 Motor cover base 1
8 | M6X60 + 7 ki 22 Motor cover screw 4
9 [93C-10A okl Motor washer 1
10 | 93C Jo kil WAL By ik Dc suction motor 1
11 183-06A NS Filter frame 2
12 | 183-06B B 20 i 4 Filter sponge 1
13 | XGH-02 95 KL A Plastic container 1
14 [ GA101-25-W 1 75 22 2hé Bt Install board 1
15 | 183-09 90EF B L& Transparent pipe 1
16 | 183-11 ki Hose clamp 1
17 183-10-08 s Hose 1
18 | M6X65 Lh ik B[] E BR 2 Screw 2
93 C i Jill W X\, £ 3k 2H A4 15 B
10-0 | 93C-02 T AN Stator housing 1
10-1 | 93C-01 BTN Stator silicon-steel plates | 6
10-2 [ 93C-06 ik B R Hall plate 1
10-3 | 93C-08A HHLF: 1 Motor rotor 1
10-4 | 93C-07 5 X Rotor blades 1
10-5 | 6201Z Hh K Bearing 2
10-6 | $23X31.5X0.3 VIR 2Oy Waveform gaskets 1
10-7 | 93C-05 FH, HL HIT i o Motor front cover 1
10-8 | 93C-04 ML i o Motor rear cover 1
10-9 [ M4X12 [i] 5 B 22 Screw 8
10-10] &6 2 Protect coil 1
10-11] 183-15A-2 P XA Rotor 1

— 66—

From the library of Superior Sewing Machine & Supply LLC - www.supsew.com




4, Clipper blade accessory and assembly

713k H 44

21
FE & 5 BE £ &
Ref.No Part No Description Qty RemarkS
1 |GHT33-121-01]| JJ 3k & Blade head base 1
2 |181-11 W I B Wing guard 1
3 |M3X6 R Y e Wing guard screw 2
4 |M2.5X16 J N o8 R 2 Sensor box screw 2
5 |GHT-33-121-06 &% #8% & Sensor box 1
6 |GX-16-3P i e (3s) Aeronautic socket (3 cores) 1
7 |181-07-22 (SRS Short oil bearing 1
8 |181-08B s o & I 11 - Eccentric axis opening clip 2
9 [181-08 A o0 B ) il Eccentric drive axis 1
10 |181-07-32 K A v h K Long oil bearing 1
11 [124C T B Eccentric block 1
12 |M5X8 13k [ 72 W2 22 Blade head mount screw 2
13 (277/242/500 € J] Fixed blade 1
14 |277/242/500 |3 T) Active blade 1
15 [130-3 o Tension spring 1
16 |M3X5 BN ] R 24 Fixed blade screw 2
17 [GAT22-121-02] B ff 3 3% Straight joint 1
18 | d4X2.5mm P U Pu tube 1
19 [GT22-01-05 [ miyh =5 4 Oil tube 1
20 |GT22-01-04 o5 i o Oil nozzle 1
21 [M5X10 713k JHE ] e g 22 Screw tightening blade head| 1

— 77—

From the library of Superior Sewing Machine & Supply LLC - www.supsew.com



pbennett
Highlight

pbennett
Highlight

pbennett
Highlight

pbennett
Highlight

pbennett
Highlight

pbennett
Highlight

pbennett
Pencil

pbennett
Highlight

pbennett
Highlight

pbennett
Highlight

pbennett
Highlight

pbennett
Highlight


S. Pedestal and Control box accessory assembly

B B K 4% i) & A A T ()

— 8 —

From the library of Superior Sewing Machine & Supply LLC - www.supsew.com


pbennett
Pencil


S. Pedestal and Control box accessory assembly

B B K 4% i) & AR A T (2)

P55 B 5 % W WE % E
Ref.No Part No Description Qty RemarkS

1 [T20E-BL-08 JEKEE S il A | Welding assembly 1
2 |T20E-BL-09 ZRERGUEZEGERA | Welding assembly 1
3 |T20E-BL-07 B A Flexible shaft 1
4 |M3*3 NS 5 R 22 Screw 1
5 |M6 B A2 R Bf Nut 2
6 | $9-4.2X5 =0 b Hollow column 4
7 |IXDJ BT 2% H L Scissors motor 1
8 |M6*12 + F i Sk MR 22 Screw 2
9 |M6*12 R Handle 1
10 |T20E-BL-04 & b Upper cover 1
11 |T20E-BL-06 TR Fixed piece 4
12 [M4*6 + F kR 22 Screw 21
13 |[M3*6 TR Sk R 22 Screw 16
14 |Bz0449 & 35 g Projectile washer 25
15 |Bz0430 $3X6X0.5F # Flat cushion 22
16 [GT22-02-12 Il 8 37 Oil injection board 1
17 |GT22-12-08 i A copper pillar 9
18 [183-13 T Wire ring 1
19 |GT36-012 i [ Safety seat 1
20 |GX-19-4P DU 05 07 2 4 g Aeronautical socket 1
21 |GX-19-3P = S A R Aeronautical socket 1
22 |GX-16-4P DY 85 AT 2 4 R Aeronautical socket ]
23 |M3*6 Lk Screw 6
24 |GX-16-5P O S o Aeronautical socket 1
25 |M3%*20 + 7 Sk R Screw 4
26 |Dj00228 K M Fan net 1
27 |Dj00227 W Fan 1
28 |M3 CAAY;iE 25 Nut 1
29 |Lj00036 Jiiogiiil Glue foot 4
30 |T20E-BL-05 &N i Lower cover 4
31 |AC250V/16A A T R Rocker switch 1
32 [184-02d5 LEDIE RIT B LED indicator lamp sleeve 1
33 [250V/3A L Pi A ON) Pullout switch (large) 1
34 |A-3 IERED il Regulating twisting 1
35 |Lj05059 “i 2 A Insulating gasket 1
36 |Lj05058 AL 2% 3 R Potentiometer gasket 1
37 |4.7K/2W+5% RS potentiometer 1
38 |GT22-12-07-1-V1 |PCBH [l 5E i Heat sink 1
39 |GT22-12-07-2 O U Heat sink 1
40 |BLD-750-220-IPM|JG kill " JX 5K 2 4R Drive plate 1
41 |Bz0115 M4*16+ 5 Jm Sk iF 22 | Screw 4
42 |Bz0451 b 475 TR Projectile washer 4
43 |Bz0432 $4XP8X0. 8- #4fE | Flat washer 4
44 |E148-12V Ak Ay Transformer 1
45 |CBB61 2.5UF/450VAC |ZZ 2% Variable volume 1

— 9

From the library of Superior Sewing Machine & Supply LLC - www.supsew.com



pbennett
Highlight

pbennett
Highlight

pbennett
Highlight


GRAND INTL ENTERPRISE (U.S.A.) INC.




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12



